=Ax+B Y U, A-B 9 Ze?

2x—-5 x-=T7
4

1 1
o @; ® 4 @ 5 ® 6

2x—5_x—7_8x—20—3x+21_5x—|—1 5 1
3 4 12 12 12 12




@ 2x-12

(Bx—4) - (x+3)
=3x-4-x—-3=2x-7




3. A (2c43y+1) - (204 y-3) & D9 5HH?

@ 2x+2y-3 @ 2x+2y+1 ® 2x+4
(@)2y+4 ® -3

(2x+3y+1)—(2x+y-3)=2x+3y+1-2x—y+3=2y+4




4.

6x>2-9x x*-8x-4

- =ax?> +bx+colM ab-c 9 #S
3x 2

©-1 @-2 ©o0 @ 2 ® 4

Foh?

6x% — 9x

=2x-3
3x .

1 1
—3—§x2+4x+2:—§x2+6x—1

6,

1
——, b=
2
1
1) =-3+1=-2
= (- 2) 3+

il




5. A (Ta? - 5x+6) - (35 - 20+ 4) & 18] 52

@4x2—3x+2 @ 4x2-3x+10 @ 4x2-7x-2

@ 4x2-Tx+2 ® 4x>-7x+10

(7x2 = 5x + 6) — (3x% — 2x + 4)
=7x>-5x+6-3x2+2x—-4
=4x2 - 3x+2
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7.

243% = 81" = 273 A ], o] Fr&?

D1 @ 2 ® 3 @®)4

(35)5 =~ 34n — 325—4n — 39
25—4n =29
“n=4




1 1
()= (—x)2=x, y¥¥ = (")? = y ' (2%)° + 2%+ (=2)° = A &
THES ), a + b+ ¢ O] g7
® 3 @6 ®)9 @ 12 ® 15
(%) 5 ()2 = a5 = !
2a—2=14
a:
Y02 =y sy ==y 3-2p=-1
L b=2
1
(22)5+22+(_Zc)3 —110—22—(—230) = _z_4 =z
10-2-3c=-4
c=4
a:3,b:2ac:4
La+b+c=9




)2 ® 3 @ 4 ®5

D1

sl

[ oz

x50 &+ 48 = x*

§Pa6 _ 44

5a—-6 =4
La=2




10. the Al9] ghe Fahu?

x2yz_ 2Xy+xy2z 1 1
ST SN S
XyzZ ( X 2 > Y 3 s Z )
1 1 1 5
2 3 6 - 0

B

x2yz — 2xy + 9%z
xyz Xz




11.

a=14%9 1, 2a(5a-3) —4a(3a - 2) o] 727

@o @1 ® 2 @ 3

2a(5a — 3) — 4a(3a — 2) = 10a® — 6a — 12a* + 8a
= -2a% + 2a

=2 +2a=-2+2=0




1
12, x=-2, y=3 Lol 3uy(x—y) - (%" - 4x%y?) = 20y O GLE7

50 50 40 40 35
@3 @-5 @3 @-3 O3

B

(F4]) = 3x%y - 3xy? — 217 + 2x%y
= 5x%y — 5xy?

1 _
X:—g,y:?)% ?:]1—6]'@




